o(d dxy) (cm)
o(d dz) (cm)

1071

107t

.é_OI-ZJ-:III IIII; II;II ;IIII III; .éOI.ZJ-!III.III: II:II ;IIII:III;

© : : E : @©
(X1.05 R A (X105

Y
W
3

¢
T
+
b
¢
T
$
LS
Py
T
e
)
A
4
)
T
3+
h 4
=

—0— - 9~ - G- - -0 - -0—0-i-]|-9—0-1-- -9~

U oW EL e ] U Sy
+

W AC B FUR S

o 1 2 3
—=— DQM_mkFit_TToriginal mllne)

0.95

0.95

|
w
|
N
|
H
|
w
|
N
|
=
|
N
w

—e— DQM_mkFit_TTNEWHS_ALLITERS

<
L

o(d @) (rad)
o(3p_/p.)

1071

1072

%
w
Rati

e el b ol £ o i R s e ahEit o of B B

=
PRI PR
¢
T
Py
)
T
Y
T
¢
T
Py
T
Y
)4
T
'y
)
T
ry
T
=
PRI PR
Y
T

3 -2 -1 0 1 2 3 %% T 2 3

TP @ (PCA to beamline) TP @ (PCA to beamline)

o
©
a

|
w

|
N

|
[N
o



	Contents
	Page 1


